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[
P
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[
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0 → f∗ΩX0
→ ΩXR

→ OP1s(−2) → 0



c2(ΩXR
) +

[
P
1s
]
= c2(VR) +

[
P
1s
]

c2(ΩXR
) = c2(VR)



0 → O(−5) → O(−1)⊕5 → VD → 0

0 → O(−1,−5)⊕O(0,−4) →
O(−1, 0)⊕O(0,−5)⊕O(0,−1)⊕4 → VR → 0







H1(V )×H1(V )×H1(V ) → H3(∧3V )



0 → VR → O(0, 2)2 ⊕O(0, 1)⊕O(1, 0) → O(1, 5) → 0

0 → VD → O(1)3 ⊕O(2) → O(5) → 0

[
P
4|5]

⎡
⎣ y0 y1 y2 y3 y4 x0 x1 p1 p2

0 0 0 0 0 1 1 1 1
1 1 1 1 1 3 0 4 4

⎤
⎦



P5 ∼ P5 + αp(5) +
3∑

a=1

βaq
a
(4) + γc(3)

H1(VD)

H3(∧3VD)

P15 ∼ P15 +Ap(5) +
3∑

a=1

Baq
a
(4) +Dc(3)



c(1,3)
x0

x1P0,5 ∼ x1P0,5 + x1αp(0,5) + x1

3∑
a=1

βaq
a
(0,4) + x1γc(0,3)

P1,5 ∼ P1,5 + α̃p(0,5) +
3∑

a=1

βaq
a
(1,4) +

2∑
i=1

γici(1,3)

H1(VR)



x1

H3(∧3VR)

P3,15 ∼ P3,15 + Ãp(0,5) +
3∑

a=1

B̃aq
a
(1,4) +

2∑
i=1

D̃ic
i
(1,3)

x3
1P0,15 ∼ x3

1P0,15 + x3
1Ap(0,5) + x3

1

3∑
a=1

Baq
a
(0,4) + x3

1Dc(0,3)

c(1,3)






